Polynomial Word Problems
Worksheet - ANnsweER H&:j

1. Find the area of a rectangle that has a width of x and a length of (3x + 1)
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2. Find the perimeter of a rectangle that has a width of 2x and a length of (4x - 1)
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3. Asquare has a side length of (2x + 3). What is its area and perimeter?
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4. Ifx =2, what is the numerical area of the rectangle in question 27
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5. A triangle has a baSG of 2x and a height of (3X + 1). What is its area?
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6. If anisosceles triangle has a base of x and its other sides are three times the length of the
base, what is the perimeter of the triangle?
3x/\ 2x P= a+ b+ C
L Pe Bx+X +3X

7. If the perimeter of the triangle in question 5 is 28, what are its dimensions?
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8. If the perimeter of the rectangle below is 62, what is the numerical area?

6x-4

2X+3

a) Find the algebraic expression for the perimeter
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b) Solve for x
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c) Find the algebraic expression for the area
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d) Use x to find the numerical area
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9. If the perimeter of the rectangle below is 64, what is the numerical meqma r?
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9. Ashley has a pool that is surrounded by grass. If she wants to replace the grass with
cement, what is the area of the section she wants to redo? (what is the area of the grass)
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10. What is the area of the grey section?

2x+5

a) The dimensions of the smaller rectangle

L epath = (Hx-1)—(x+) — (x+1) Widt = (2xt5) - (2)=(2)
O et = | . 2x+D-2-2
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b) The perimeter of the smaller rectangle
D= 2 (Leﬂs‘rh‘)* 2 (Lidtin
D.2 (21 %) 12 (2x+1)
Pr Yx-b tdxtZ
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c) If the numerical perimeter of the smaller rectangle is 52, what is x?
P=Bx-Y
52= 8x -4
52+ 4=8x -
d) Find the numerical area of the small rectangle . . !
= 2(3)-3 = ELHI = (N8
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=

e) Find the numerical area of the big rectangle

LenGin= Yy-) wid¥h= Zx+D Acea. = (. Lf“ﬁ*h) (W‘(ﬁ”)
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f) Find the area of the grey section

Ac_eal = A%i{r — Asprpt

e
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